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3cmdmm+ | cmbmm =

2cm+ lem=

gcm2mm+ Tmm=

Acmbmm + 2cmbmm =

2cmbmm— lcmZ2mm =
gcm—3cm=
Tcm9dmm — 4mm =

3cmdmm—bSmm=

6¢cm3mm— 2cm8mm =

2L O
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3cm2mm =+ lcm7mm=

Acm3mm— 2cmimm=

lcm2mm =+ | cm9mm =

Scmdmm— | cm9mm =

decm+ 2cm8mm =
gcm3mm—bcm=

3cm9mm+ | cmbdmm =

Tcm2mm — 2cmbmm =

| 2cm7mm+O0cm=

2L O
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2cm8mm + 2mm =

| 2cm+ 3cm8mm =

AemImm —Y9mm =

Acmbmm — 2cmbmm =

gcmbmm + 2cmbmm =
amm =+ 4mm =
15cmImm— 1 2cmimm=
3cm—bmm=

‘Tcmdmm—Ocm=

CLals
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OAmm+ 4mm=

2cm3mm =+ 4cm8mm =

| 5em8mm +9Imm =

Lcmbmm + 4cmbmm =

2cm—+ | cmdmm=
|8&cm—9cm=

| 2cm9mm — | cmYmm =

‘Tecmbémm — 2cmbmm =

|6cm8mm — TcmYmm =

2L O
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|0cm+ 10cm=
2cm—2cm=

5cm2mm + 2cm8mm =
9cmbmm — 2cmbmm =
S5em7mm + 3cmémm =

| I cm8mm— 3cm7mm =

dmm+ Imm=

| &cm4mm — [Ocm9mm =

gcm8mm+ 6¢cm7mm=

2L O
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| 3cmdmm+ 3cm=

gcmdmm—2cm=

Gem2mm+ 2cm9mm =

‘Tcmbmm — 4cmbmm =

5mm+ 5cmZ2mm =
gcm—3cm3mm=
| Tcmbmm + 2cmdmm =

2cmbémm— Tmm=

dembmm+ 6¢cmdmm=

2L O



